	NAME: _____________
	

	Test 4 – 8 points each-  Total 32 points
	DATE: Tuesday, May 01, 2018


On my Birthing website, I keep track of three type of users – Midwives, Doctors, and Admin.  .  All users inherit some properties from parent User
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 a. Write the complete class declaration for the class Midwife.  Midwives are Users, but all midwives also keep track of a license number (an int).  It will include all necessary instance variables and implementation of its constructors (which will take in name,rate, and license number) and any methods necessary to compile.
b. Write the complete class declaration for the class StudentMidwife.  Student midwives are like regular midwives, but they do not have to pay.  The constructor should just take in name and license (the rate is 0, so there is no need for it to be a parameter).  Also override setRate so that the rate always will be $0.  getInfo should return the same info as Midwife but also have it say “Student”.

c. Consider the following DB class, which has an ArrayList of users called allUsers.  
Create the method updateDB(int birthLimit) that will double the rate of all users that have more than birthLimit births and remove all users that have no births.
 
 

d. Create a method public ArrayList<Midwife> activeMidwives () that will return an ArrayList of all midwives that have delivered more than 100 births.
e. Extra credit: Create a method public Users[] getRandomUsers(int sampleSize) that will return an array of sampleSize random users.  For full credit make sure the random users are all unique. 

public abstract class User


{


    private String name;


    private int id;


    private int numberOfBirths;


    private double rate;





    public User(String name, double rate)


    {


        Implementation hidden


    }


    // returns the users name    


    public String getName ()


    {


	Implementation hidden


    }


    // returns the number of births they have delivered


    public int getNumberOfBirths()


    {


        return numberOfBirths;


    }


    // gets the rate being charged to the user


    public double getRate()


    {


	Implementation hidden


    }


    // gets the rate being charged to the user


    public void setRate(double rate)


    {


	Implementation hidden


    }





    //returns the info of this User


    public abstract String getInfo ();





}
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public class Warehouse


{


    private ArrayList<User> allUsers;





    //constructors and other methods not shown





    // doubles the rate of all users that have more than birthLimit births and remove all users that have no births.�    public void updateDB(int birthLimit)        


    { 


         //to be implemented in c


    }





    // returns an ArrayList of all midwives that have delivered more than 100 births.


    public ArrayList<Midwife> activeMidwives ()


    {


        // to be implemented in d


    }








}








